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Question 1
Question Type: MultipleChoice

In a Strengths, Weakness, Opportunities, and Threats (SWOT) analysis, the factors external to the organization include.

Options: 
A- Strengths and weaknesses.

B- Strengths and threats.

C- Opportunities and weaknesses.

D- Threats and opportunities.

Answer: 
D

Question 2
Question Type: MultipleChoice



What are the primary organizational drivers for pursuing enterprise content management (ECM)? (Choose 2)

Options: 
A- Application integration

B- Regulatory compliance

C- Business efficiency

D- Employee motivation

Answer: 
B, C

Question 3
Question Type: MultipleChoice

Social tagging capabilities of enterprise social media are also referred to as.



Options: 
A- mashups

B- folksonomies

C- microblogging

D- cloud computing

Answer: 
B

Question 4
Question Type: MultipleChoice

Which of the following are possible approaches to defining enterprise content classification structures? (Choose 2)

Options: 
A- Enterprise taxonomy



B- Controlled vocabulary

C- Collaborative folksonomy

D- Enterprise data syndication

Answer: 
A, C

Question 5
Question Type: MultipleChoice

An authoritative record has which of the following characteristics?

Options: 
A- Authenticity, Integrity, Reliability, Usability

B- Auditability, Reliability, Accuracy, Usability

C- Trustworthiness, Consistency, Usability, Dependability

D- Integrity, Consistency, Usability, Accuracy



Answer: 
A

Question 6
Question Type: MultipleChoice

An organization wants to classify a large collection of images, videos, and presentations used by a large, distributed group. Which of the

following techniques offers a low-cost, decentralized approach to classification?

Options: 
A- Controlled vocabulary

B- Corporate taxonomy

C- Folksonomy

D- Enterprise wiki

Answer: 
C



Question 7
Question Type: MultipleChoice

All of the following are examples of cloud computing deployment models except.

Options: 
A- Public cloud.

B- Server cloud.

C- Community cloud.

D- Hybrid cloud.

Answer: 
B

Question 8
Question Type: MultipleChoice



What is a model that an organization can use to implement a comprehensive legal hold process?

Options: 
A- Information governance reference model (IGRM)

B- Electronic discovery reference model (EDRM)

C- Modular requirements for record systems <MoReq2010)

D- DoD 5015.02-STD Version 3

Answer: 
B

Question 9
Question Type: MultipleChoice

Which of the following are basic architectural components of an information solution design? (Choose 2)



Options: 
A- Reporting architecture

B- Data architecture

C- Life cycle architecture

D- Business architecture

Answer: 
B, D

Question 10
Question Type: MultipleChoice

A third-party vendor is in possession of an organization's records. Best practice for the organization is to do which of the following?

(Choose 2)

Options: 
A- Have the third-party vendor manage and retain records in accordance with the vendor's policy.



B- Have the third-party vendor manage and retain records in accordance with the organization's policy.

C- Limit the scope of any litigation matter by excluding records retained by a third-party vendor.

D- Notify the third-party vendor of relevant legal holds and require acknowledgement and action.

Answer: 
B, D

Question 11
Question Type: MultipleChoice

What are the key benefits of implementing an instant messaging (IM) solution in a geographically distributed global organization?

(Choose 2)

Options: 
A- Auto-translation between languages

B- Online presence

C- Real-time messaging



D- Quality of service (QoS)

Answer: 
B, C



To Get Premium Files for IQ0-100 Visit
https://www.p2pexams.com/products/iq0-100

For More Free Questions Visit
https://www.p2pexams.com/aiim/pdf/iq0-100

https://www.p2pexams.com/products/IQ0-100
https://www.p2pexams.com/aiim/pdf/iq0-100

